f; B s et

AN N, —
(@ﬁ—w‘@'@ @
MIH.—

V £
ELECTRIC TRAINS®

40’ Box Car

Rev. 2-12-01



40’ Box Car

Car Parts

Name and Number Part # $Price Per Unit  Name and Number Part # $Price Per Unit
1.) Door guide ( top )( white ) [HB-6100257] 2.00 7.) Shell ( blue & white ) *25.00
( DHNY )( # 50000 )( # 50019 ) ( DHNY )( # 50000 )
1.) Door guide (top )( blue)  [HB=6T00Z53] 2.00 7.) Shell ( blue & white ) *25.00
( ONTARIO NORTHLAND )( # 92007 ) ( DHNY )( # 50019 )
(#92010) 7.) Shell ( blue, cream & red ) 6100270 *25.00
1.) Door guide ( top )( blue) 2.00 ( US POSTAL SERVICE )( # 0006 )
( US POSTAL SERVICE )( # 0006 )( # 4938) 7.) Shell ( blue, cream & red ) [HB-6T0027T] *25.00
1.)  Door guide (top )( red ) 2.00 ( US POSTAL SERVICE )( # 4938)
( Kansas City Southern )( #20829 )( #20857 ) 7.)  Shell ( blue) *25.00
( Conrail )( #269194 )( #269198 ) ( ONTARIO NORTHLAND )( # 92007 )
1.)  Door guide ( top )( orange ) [HB-6T00T28] 2.00 7.) Shell ( blue) [HB-6T00273] *25.00
( New Haven )( #31709 )( #31728 ( ONTARIO NORTHLAND )( #92010 )
2.) Door guide ( blue ) 2.00 7.) Shell (red & white ) [HB-6T00274] *25.00
( bottom )( US POSTAL SERVICE ) ( Conrail )( #269194 )
(# 0006 )( # 4938) 7.)  Shell ( red & white ) [HB-6100275]  *25.00
2.)  Door guide ( blue ) 2.00 ( Conrail )( #269198)
( bottom )( DHNY )( # 50000 )( # 50019 ) 7.) Shell ( red & white ) *25.00
2.) Door guide ( blue ) 2.00 ( Kansas City Southern )( #20829 )
( bottom )( ONTARIO NORTHLAND )( # 92007 ) 7.)  Shell ( red & white ) [HB-6T002771 *25.00
(#92010) ( Kansas City Southern )( #20857
2.) Door guide (red) HB-6100133 2.00 7.) Shell (orange, black & white) *25.00
( Kansas City Southern )( #20829 )( #20857 ) ( New Haven )( #31709)
( Conrail )( #269194 )( #269198 ) 7.)  Shell (orange, black & white *25.00
2.) Door guide ( orange ) 2.00 (New Haven )( #31728 )*
( New Haven )( #31709 )( #31728) 8.) Screw ( M2.6x6.0mm ) 0.15
3.) Screw ( M2.6x4.0mm ) 0.15 ( roundhead )( plastic cutting threads )
( roundhead )( plastic cutting threads ) 9.) Catwalk ( white ) 4.00
4.) Door ( blue) 4.00 ( DHNY )( # 50000)( DHNY )( # 50019)
( ONTARIO NORTHLAND )( # 92007 ) #92010 ) 9.) Catwalk ( cream ) 4.00
4.) Door ( blue) 4.00 ( US POSTAL SERVICE )( # 0006 )( # 4938 )
( US POSTAL SERVICE )( # 0006 )( # 4938 ) 9.) Coatwalk ( blue) HB-6T00280)1 4.00
4.) Door ( blue & white ) 4.00 ( ONTARIO NORTHLAND )( # 92007 )( #92010 )
( DHNY )( # 50000 )( # 50019 ) 9.) Catwalk (red) [HB-6100176] 4.00
4.) Door (red) 4.00 ( Kansas City Southern )( #20829 )( #20857 )
( Kansas City Southern )( #20829 )( #20857 ) ( Conrail )( #269194 )( #269198))
4.) Door ( red) [HB-6T00243 4.00 9.) Catwalk (orange) [HB=6T00T71 4.00
(w/ red, white & blue stars ) ( New Haven )( #31709 )( #31728
( Conrail )( #269194 )( #269198 ) 10.) Brake wheel ( black ) 1.00
4.) Door ( orange) 4.00 11.) Chassis ( black) *12.00
(New Haven )( #31709 )( #31728 ) 12.) Screw( M3x8.0mm ) [A-0000204] 0.15
5.) Ladder ( side )( white) 2.00 ( roundhead )( plastic cutting threads )
( DHNY )( # 50000 )( # 50019) 13.) Screw [TA=00007Z68] 0.15
( Conrail )( #269194 )( #269198) ( M3x5.0mm )( washer head
5.) Ladder (side )( blue ) [HB=8T00ZTT] 2.00 14.) Washer 0.15
( US POSTAL SERVICE )( # 0006 )( # 4938 ) (6.0x10.0x0.9mm )
5) Ladder ( side )( blue ) HB-3T00755] 2.00 15.) Truck (2 axle) 6.00
( ONTARIO NORTHLAND )( # 92007 )( #92010) ( black truck sides )( w/ truck side springs )
5.) Ladder ( side )( red) [HB-6T00T4Y] 2.00 16.) Undercarriage detail (black) 8.00
( Kansas City Southern )( #20829 )( #20857 ) 17.) Screw [TA-0000178] 0.15
5.) Ladder ( side )( orange ) 2.00 ( M2.5x6.0mm )( flathead )
(New Haven )( #31709 )( #31728) 18.) Spring ( truck side ) 0.25
6.) Ladder (end)( blue) [HB-6T00Z68] 2.00 (2.5x5.0x0.2mm )
( DHNY )( # 50000 )( # 50019 ) 19.) Screw 0.15
6.) Ladder (end )( blue ) [HB-6T00Z2T9] 2.00 ( M2x4.0mm )( washer head )
(US POSTAL SERVICE )( # 0006 )( # 4938 ) 20.) Coupler (44.0mm long ) [DD-0000009 3.00
6.) Ladder (end )( blue ) 2.00 21.) Spring ( centering ) [E-0000036 | 0.50
( ONTARIO NORTHLAND )( # 92007 )( #92010) 22.) Armature ( 36.3mm long ) 1.00
6.) Ladder ( end )( white) HB-6100221 2.00 23.) Insulator washer ( clear) 0.15
( Conrail )( #269194 )( #269198) (5.0x10.0x0.3mm )
6.) Ladder (end )(red) [AB-3T00154] 2.00 24.) Spring ( nickel ) 0.50
( Kansas City Southern )( #20829 )( #20857 ) (6.0x8.0mm )( w/ 0.4mm thick wire )
6.) Ladder ( end )(orange ) [HB=5100155] 2.00

( New Haven )( #31709 )( #31728)

*Requires Exchange
All parts are priced as each



www.mthtrains.com/part/HB-6100257
www.mthtrains.com/part/HB-6100258
www.mthtrains.com/part/HB-6100187
www.mthtrains.com/part/HB-6100126
www.mthtrains.com/part/HB-6100128
www.mthtrains.com/part/HB-6100196
www.mthtrains.com/part/HB-6100259
www.mthtrains.com/part/HB-6100260
www.mthtrains.com/part/HB-6100133
www.mthtrains.com/part/HB-6100135
www.mthtrains.com/part/IA-0000208
www.mthtrains.com/part/HB-6100203
www.mthtrains.com/part/HB-6100261
www.mthtrains.com/part/HB-6100262
www.mthtrains.com/part/HB-6100243
www.mthtrains.com/part/HB-6100263
www.mthtrains.com/part/HB-6100142
www.mthtrains.com/part/HB-6100264
www.mthtrains.com/part/HB-6100211
www.mthtrains.com/part/HB-6100265
www.mthtrains.com/part/HB-6100149
www.mthtrains.com/part/HB-6100148
www.mthtrains.com/part/HB-6100266
www.mthtrains.com/part/HB-6100219
www.mthtrains.com/part/HB-6100267
www.mthtrains.com/part/HB-6100221
www.mthtrains.com/part/HB-6100154
www.mthtrains.com/part/HB-6100156
www.mthtrains.com/part/HB-6100268
www.mthtrains.com/part/HB-6100269
www.mthtrains.com/part/HB-6100270
www.mthtrains.com/part/HB-6100271
www.mthtrains.com/part/HB-6100272
www.mthtrains.com/part/HB-6100273
www.mthtrains.com/part/HB-6100274
www.mthtrains.com/part/HB-6100275
www.mthtrains.com/part/HB-6100276
www.mthtrains.com/part/HB-6100277
www.mthtrains.com/part/HB-6100278
www.mthtrains.com/part/HB-6100279
www.mthtrains.com/part/IA-0000206
www.mthtrains.com/part/HB-6100233
www.mthtrains.com/part/HB-6100234
www.mthtrains.com/part/HB-6100280
www.mthtrains.com/part/HB-6100176
www.mthtrains.com/part/HB-6100177
www.mthtrains.com/part/HE-4100033
www.mthtrains.com/part/HD-0100065
www.mthtrains.com/part/IA-0000204
www.mthtrains.com/part/IA-0000268
www.mthtrains.com/part/ID-0000064
www.mthtrains.com/part/DA-0100006
www.mthtrains.com/part/HD-0100066
www.mthtrains.com/part/IA-0000178
www.mthtrains.com/part/IE-0000033
www.mthtrains.com/part/IA-0000080
www.mthtrains.com/part/DD-0000009
www.mthtrains.com/part/IE-0000036
www.mthtrains.com/part/DD-0000014
www.mthtrains.com/part/ID-0000065
www.mthtrains.com/part/IE-0000035

© ,/%//m%%% BTN SRR, |

40’ Box Car




	Page 1
	Page 2
	Page 3

